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Math 2

PRACTICE Quiz 10.1-10.2 Systems and Operations with Matrices

Name___________________________________
©x b2c0R2X1_ yKcu`tbaq iSooff_tvwIaarkeW TLgLACc.Q d eATljlB UrFiGguhstOsv BrFersbe\rLvHeude.

-1-

Solve each system.

1)  -5x + y - 3z = 7
y - 3z = -21
2x - y + 3z = 5

2)  -2x - 3y - 3z = 3
x + 4y - 4z = 7
-2y - 6z = 10

Simplify.  Write "undefined" for expressions that are undefined.

3)  
3 1

-6 -2
 + 

0 5

-3 -4
4)  

1

-6 + y
z2 + 3

-2y

 - 

5z
5x

3 - 2y
-3
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5)  
5 6

-2 -6
 - ( 2 -3

-4 3
 - 

6 3

6 6 ) 6)  
1 -3

1 -3
 + 

4 -5

1 5
 - 

-3 -6

4 5

7)  -4

2

-x
-4y

8)  -4

-2y
2

x - 2

x - 5

9)  -3 -4 -2 6 0  - 2 -2 -4 2

10)  -5

-1

1

0

-3

 - 

-6

-2

-5

-4
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Math 2

PRACTICE Quiz 10.1-10.2 Systems and Operations with Matrices

Name___________________________________
©L J2j0m2Q1c LKguGtGal xS\orfDtlwMafrJeS hLuLBCd.Y Y yAjlHlK yr\iKgIhotXsI drceEsYehrGvreVdi.

-1-

Solve each system.

1)  -5x + y - 3z = 7
y - 3z = -21
2x - y + 3z = 5

No solution.

2)  -2x - 3y - 3z = 3
x + 4y - 4z = 7
-2y - 6z = 10

(15

13
, -

2

13
, -

21

13)

Simplify.  Write "undefined" for expressions that are undefined.

3)  
3 1

-6 -2
 + 

0 5

-3 -4

3 6

-9 -6

4)  

1

-6 + y
z2 + 3

-2y

 - 

5z
5x

3 - 2y
-3

1 - 5z
-6 + y - 5x
z2 + 2y
-2y + 3
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5)  
5 6

-2 -6
 - ( 2 -3

-4 3
 - 

6 3

6 6 )
9 12

8 -3

6)  
1 -3

1 -3
 + 

4 -5

1 5
 - 

-3 -6

4 5

8 -2

-2 -3

7)  -4

2

-x
-4y

-8

4x
16y

8)  -4

-2y
2

x - 2

x - 5

8y
-8

-4x + 8

-4x + 20

9)  -3 -4 -2 6 0  - 2 -2 -4 2

10 8 -14 -2 10)  -5

-1

1

0

-3

 - 

-6

-2

-5

-4

11

-3

5

19


